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E. Rhifau - Numbers  
 

1. We always use a singular noun after numbers in Welsh. (In English we 
only use the singular forms   -um58e of - Wenine boys. Rhifau 

1. 

 
18 -14.25  TD /F4 11
3 0  T35f  N- I3 Tj
39. 1 1 rg 
/F3 11.62  8D -0.0016  Tdwy93  T24 rs  N- I3 Tj
39. 1 1 rg 
/F3 11.625411D -0.1453  Ttair18  TD
(Tj
39. 1 0  TD /F4 11.62122 Tf
0.03122 c -0.02cadairin f)E. Rhifau ) Tj
51 0  TD -0.1095  Tc 0  Tw (-) Tj
3..625  25 0  TD 0053c -0.13222three chairs. Rhi72rs

of - I3 Tj
39. 1 1 rg 
/F3 11.62997 TD -0.042  Tpedair18  T33rsWe pêlin f)E. Rhi36 N

1. WeTnlyun after. Rhi72 Tj
39. 1 1 rg 
/F3 11.6255 TD -0.162 Tc -0.0‘pump’T
542.20. 93  Tc (.) Tj
3.7550  TD /F4 1112 338 TD 0.(five99  TD
rs) Tj
39.25 0  TD /F4 1112 0  TD -0.1 087095  T),318  TD0e93  Tc (.) Tj
3.7550  TD /F4 1112 1721D -0.(six18  TD4 ( ) Tj
8.25 0  TD /F4 11.625901D -0.120676095  T) ed, 4  Tw29 ( ) Tj
8.25 1 rg 
/F3 11.6256760950.1095  T‘cant’93  T28. ) Tj
8.25 0  TD /F4 1112 0  TD -0.1 087095  T (93  T6 (.) Tj
3.7550  TD /F4 1112 01TD -0.1095  Thundred
542.2I35f - rs I35f - of -

1. Tj
39. 1 0  TD /F4 11.621  TD -0.1 087095  T (93  T6 (.) Tj
3.7550  TD /F4 116234460950.1095  Tone99  TD9e except6onose225  T78 Tj
39.75 0  TD 0  Tc -0.0225  T-367.5( )8 ( ) Tj
8.25 1 rg 
/F3 110.529 TD 0.1095  Tll25  T7e rs -. -1. o7 Tj
36425 1 rg 
/F3 111 132Tf
-0.01715T TD   T‘dau’ 4  Tw29 ( ) Tj
8.25 0  TD /F4 11.621  TD -0.1TD   T(93  Tc (.) Tj
3.7550  TD /F4 11621160950.(two99  TD9e) Tj
36425 0  TD /F4 117305145 0  TD 0739095  T) ed, feminineyuings after99  TD38 Tj
39.75 0  TD 0  Tc -0.0225  T2f m)93  T24I3 Tj
11.Tf
0  TD -0.1095  Tc 0  Tw (-) Tj
3.7.338625  Tf
660Tc -0.02222two dogs18  T60 f)93  T30rs- We�ou(m)     25  T41f - f)93  T31e - 1. r s

1-- 1rs- -11
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  In order to use this method of counting, it must be remembered that  
 
 (a) ‘o’ causes a Soft Mutation   see s.m. rule10. 
 

(b) the plural form of the noun must be used. This can cause a  
 problem as plural forms are irregular and do not follow any 
 particular pattern. 


